

County Distribution Detail Report through 10/03/2017

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,290	1,795	0	3,085	\$3,856.25	\$70.99	\$3,785.26	0.70	\$2,649.68
							Entity Tota	al:	\$2,649.68
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,649.68
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	4,708	10,677	99	15,484	\$19,355.00	\$417.19	\$18,937.81	0.70	\$13,256.47
							Entity Tota	al:	\$13,256.47
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$13,256.47
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount
8/2017			Lines					Percent	
0/2017	941	1,106	4	2,051	\$2,563.75	\$58.99	\$2,504.76	0.70	\$1,753.33
0/2017	941	1,106		2,051	\$2,563.75	\$58.99	\$2,504.76 Entity Tota	0.70	\$1,753.33 \$1,753.33
0/2017	941	1,106		2,051	\$2,563.75	\$58.99		0.70 al:	
0/2017	941	1,106		2,051	\$2,563.75	\$58.99	Entity Tota	0.70 al: nt:	\$1,753.33
Bon Homme	941	1,106		2,051	\$2,563.75	\$58.99	Entity Tota Adjustmer	0.70 al: nt:	\$1,753.33 \$0.00
	941 Telecom Lines	1,106 Wireless Lines		2,051 Total Lines	\$2,563.75 Surcharge	\$58.99 Admin Fee	Entity Tota Adjustmer	0.70 al: nt:	\$1,753.33 \$0.00
Bon Homme			4 VOIP				Entity Tota Adjustmer Total Amo	0.70 al: nt: unt: Entity	\$1,753.33 \$0.00 \$1,753.33
Bon Homme Reporting Period	Telecom Lines	Wireless Lines	4 VOIP Lines	Total Lines	Surcharge	Admin Fee	Entity Tota Adjustmer Total Amo Net Surcharge	0.70 al: unt: Entity Percent 0.70	\$1,753.33 \$0.00 \$1,753.33 Entity Amount

Total Amount: \$5,243.27

Brookings

BIOOKIIIgs									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	11,107	19,369	176	30,652	\$38,315.00	\$786.98	\$37,528.02	0.70	\$26,269.61
							Entity Tota	al:	\$26,269.61
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$26,269.61
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	11,389	24,886	204	36,479	\$45,598.75	\$948.96	\$44,649.79	0.70	\$31,254.85
							Entity Tota	al:	\$31,254.85
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$31,254.85
Brule									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,853	3,508	8	6,369	\$7,961.25	\$101.49	\$7,859.76	0.70	\$5,501.83
							Entity Tota	al:	\$5,501.83
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$5,501.83
Buffalo									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	621	377	2	1,000	\$1,250.00	\$9.58	\$1,240.42	0.70	\$868.29
							Entity Tota	al:	\$868.29
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$868.29
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	l elecom Lines	Wireless Lines	VOIP Lines	I otal Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,824	6,029	18	8,871	\$11,088.75	\$230.91	\$10,857.84	0.70	\$7,600.49

	Entity Total:	\$7,600.49
	Adjustment:	\$0.00
	Total Amount:	\$7,600.49
Campbell		

Reporting Period Wireless Lines VOIP **Total Lines** Surcharge Net Surcharge Entity Amount **Telecom Lines** Admin Fee Entity Lines Percent 8/2017 855 1,405 8 2,268 \$2,835.00 \$56.72 \$2,778.28 0.70 \$1,944.80 Entity Total: \$1,944.80 Adjustment: \$0.00 **Total Amount:** \$1,944.80

Charles Mix

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	3,137	5,040	14	8,191	\$10,238.75	\$173.14	\$10,065.61	0.70	\$7,045.93
							Entity Tota	l:	\$7,045.93
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,045.93

City of Box Elder, Meade Co

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	44	2,052	0	2,096	\$2,620.00	\$54.34	\$2,565.66	0.70	\$1,795.96
							Entity Total	:	\$1,795.96
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,795.96
City of North Sioux	City, Uni								

ιy, Ľ

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,642	2,385	112	4,139	\$5,173.75	\$120.49	\$5,053.26	0.70	\$3,537.28
							Entity Tota	l:	\$3,537.28
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,537.28

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
2/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
3/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
4/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
5/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
6/2017	0	0	6	6	\$7.50	\$0.00	\$7.50	0.70	\$5.25
8/2017	5,511	20,402	1,026	26,939	\$33,673.75	\$766.81	\$32,906.94	0.70	\$23,034.86
							Entity Tota	d:	\$23,066.36
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$23,066.36
Clark									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,637	2,384	9	4,030	\$5,037.50	\$105.96	\$4,931.54	0.70	\$3,452.08
							Entity Tota	ıl:	\$3,452.08
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$3,452.08
Clay									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,973	7,007	103	9,083	\$11,353.75	\$241.09	\$11,112.66	0.70	\$7,778.86
							Entity Tota	ıl:	\$7,778.86
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$7,778.86
Codington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	8,268	18,050	161	26,479	\$33,098.75	\$680.49	\$32,418.26	0.70	\$22,692.78
							Entity Tota	ıl:	\$22,692.78
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$22,692.78

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,410	534	5	1,949	\$2,436.25	\$49.99	\$2,386.26	0.70	\$1,670.38
							Entity Tota	l:	\$1,670.38
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$1,670.38
Custer									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	3,958	5,023	53	9,034	\$11,292.50	\$252.74	\$11,039.76	0.70	\$7,727.83
							Entity Tot	al:	\$7,727.83
							Adjustme	nt:	\$0.00
							Total Amo	ount:	\$7,727.83

Davison

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	6,051	13,061	223	19,335	\$24,168.75	\$495.06	\$23,673.69	0.70	\$16,571.58
							Entity Total	:	\$16,571.58
							Adjustment	:	\$0.00
							Total Amou	nt:	\$16,571.58

Day

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,585	3,457	20	6,062	\$7,577.50	\$155.17	\$7,422.33	0.70	\$5,195.63
							Entity Tota	:	\$5,195.63
							Adjustment	::	\$0.00
							Total Amou	int:	\$5,195.63
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,292	2,843	7	5,142	\$6,427.50	\$137.26	\$6,290.24	0.70	\$4,403.17
							Entity Tota	:	\$4,403.17

Total Amount: \$4,403.17

Douglas

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,439	2,068	6	3,513	\$4,391.25	\$83.92	\$4,307.33	0.70	\$3,015.13
							Entity Total	:	\$3,015.13
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,015.13
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

			Lines					Percent	
8/2017	1,538	2,762	10	4,310	\$5,387.50	\$108.19	\$5,279.31	0.70	\$3,695.52
							Entity Total	:	\$3,695.52
							Adjustment	:	\$0.00
							Total Amou	nt:	\$3,695.52

Fall River

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	3,593	4,060	23	7,676	\$9,595.00	\$193.31	\$9,401.69	0.70	\$6,581.18
							Entity Tota	:	\$6,581.18
							Adjustmen	::	\$0.00
							Total Amou	int:	\$6,581.18

Faulk

8/2017

2,545

5,048

160

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	997	1,391	5	2,393	\$2,991.25	\$60.70	\$2,930.55	0.70	\$2,051.39
							Entity Total:		\$2,051.39
							Adjustment:		\$0.00
							Total Amour	nt:	\$2,051.39
Grant									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$9,691.25

\$215.97

\$9,475.28

0.70

\$6,632.70

7,753

Entity Total:	\$6,632.70
Adjustment:	\$0.00
Total Amount:	\$6,632.70

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,020	3,428	14	5,462	\$6,827.50	\$147.08	\$6,680.42	0.70	\$4,676.29
							Entity Total	:	\$4,676.29
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,676.29
Haakon									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,110	1,380	5	2,495	\$3,118.75	\$62.39	\$3,056.36	0.70	\$2,139.45
							Entity Total	:	\$2,139.45
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,139.45

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,062	3,528	7	5,597	\$6,996.25	\$140.20	\$6,856.05	0.70	\$4,799.24
							Entity Tota	l:	\$4,799.24
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$4,799.24

Hand

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,330	2,644	13	3,987	\$4,983.75	\$101.99	\$4,881.76	0.70	\$3,417.23
							Entity Tota	l:	\$3,417.23
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$3,417.23

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,060	2,901	21	3,982	\$4,977.50	\$102.43	\$4,875.07	0.70	\$3,412.55
							Entity Tota	l:	\$3,412.55
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,412.55
Harding									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	753	833	1	1,587	\$1,983.75	\$49.79	\$1,933.96	0.70	\$1,353.77
							Entity To	tal:	\$1,353.77
							Adjustme	ent:	\$0.00
							Total Am	ount:	\$1,353.77

Hughes

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	5,091	14,160	209	19,460	\$24,325.00	\$513.16	\$23,811.84	0.70	\$16,668.29
							Entity Total	:	\$16,668.29
							Adjustment	:	\$0.00
							Total Amou	nt:	\$16,668.29

Hutchinson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	3,473	4,842	43	8,358	\$10,447.50	\$233.91	\$10,213.59	0.70	\$7,149.51
							Entity Tota	:	\$7,149.51
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,149.51
Hyde									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	810	1,034	2	1,846	\$2,307.50	\$47.33	\$2,260.17	0.70	\$1,582.12

Entity Total:	\$1,582.12
---------------	------------

Adjustment: \$0.00

Total Amount: \$1,582.12

Jackson

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	722	779	1	1,502	\$1,877.50	\$37.85	\$1,839.65	0.70	\$1,287.76
							Entity Total	:	\$1,287.76
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,287.76
Jerauld									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,033	1,227	0	2,260	\$2,825.00	\$56.51	\$2,768.49	0.70	\$1,937.94
							Entity Total	:	\$1,937.94
							Adjustment	:	\$0.00
							Total Amou	nt:	\$1,937.94
Jones									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
8/2017	615	638	6	1,259	\$1,573.75	\$31.52	\$1,542.23	0.70	\$1,079.56	
							Entity Total:		\$1,079.56	
							Adjustment:		\$0.00	
							Total Amour	nt:	\$1,079.56	

Kingsbury

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,512	3,918	34	5,464	\$6,830.00	\$140.11	\$6,689.89	0.70	\$4,682.92
							Entity Tota	l:	\$4,682.92
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,682.92
Lake									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	3,257	9,439	104	12,800	\$16,000.00	\$355.57	\$15,644.43	0.70	\$10,951.10

Entity Total:	\$10,951.10
Adjustment:	\$0.00
Total Amount:	\$10,951.10

Lawrence

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	8,764	15,630	151	24,545	\$30,681.25	\$641.00	\$30,040.25	0.70	\$21,028.18
							Entity Total	:	\$21,028.18
							Adjustment	:	\$0.00
							Total Amou	nt:	\$21,028.18
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	4,575	20,704	1,453	26,732	\$33,415.00	\$772.40	\$32,642.60	0.70	\$22,849.82
							Entity Total	:	\$22,849.82
							Adjustment	:	\$0.00
							Total Amou	nt:	\$22,849.82
Lyman									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,407	1,744	6	3,157	\$3,946.25	\$85.06	\$3,861.19	0.70	\$2,702.83
							Entity Tota	l:	\$2,702.83
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,702.83

Marshall

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,124	2,657	32	4,813	\$6,016.25	\$126.49	\$5,889.76	0.70	\$4,122.83
							Entity Tota	I:	\$4,122.83
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,122.83

McCook

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,690	4,092	14	6,796	\$8,495.00	\$170.65	\$8,324.35	0.70	\$5,827.05
							Entity Tota	l:	\$5,827.05
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,827.05
McPherson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,167	1,521	1	2,689	\$3,361.25	\$78.23	\$3,283.02	0.70	\$2,298.11
							Entity Tota	al:	\$2,298.11
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,298.11

Meade

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	4,169	16,024	257	20,450	\$25,562.50	\$554.14	\$25,008.36	0.70	\$17,505.85
							Entity Total	:	\$17,505.85
							Adjustment	:	\$0.00
							Total Amou	nt:	\$17,505.85
									

Mellette

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	632	611	0	1,243	\$1,553.75	\$31.08	\$1,522.67	0.70	\$1,065.87
							Entity Tota	l:	\$1,065.87
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$1,065.87
Miner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,131	1,513	3	2,647	\$3,308.75	\$66.43	\$3,242.32	0.70	\$2,269.62
							Entity Tota	l:	\$2,269.62

\$0.00

Adjustment:

Total Amount: \$2,269.62

Minnehaha

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	50,895	137,944	1,958	190,797	\$238,496.25	\$4,993.09	\$233,503.16	0.70	\$163,452.21
							Entity Total:		\$163,452.21
							Adjustment:		\$0.00
							Total Amou	nt:	\$163,452.21
Moody									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,557	4,366	13	5,936	\$7,420.00	\$174.71	\$7,245.29	0.70	\$5,071.70
							Entity Tota	al:	\$5,071.70
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,071.70

Pennington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
1/2017	0	0	16	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
2/2017	0	0	16	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
3/2017	0	0	16	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
4/2017	0	0	16	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
5/2017	0	0	16	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
6/2017	0	0	16	16	\$20.00	\$0.00	\$20.00	0.70	\$14.00
8/2017	28,873	71,365	1,411	101,649	\$127,061.25	\$2,727.14	\$124,334.11	0.70	\$87,033.88

Entity Total:	\$87,117.88
Adjustment:	\$0.00
Total Amount:	\$87,117.88

Adjustment:

Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,907	2,355	6	4,268	\$5,335.00	\$116.55	\$5,218.45	0.70	\$3,652.92
							Entity Tota	l:	\$3,652.92

\$0.00

Total Amount: \$3,652.92

Potter

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	1,524	1,738	4	3,266	\$4,082.50	\$81.74	\$4,000.76	0.70	\$2,800.53
							Entity Total	:	\$2,800.53
							Adjustment	:	\$0.00
							Total Amou	nt:	\$2,800.53
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	4,186	4,439	8	8,633	\$10,791.25	\$237.60	\$10,553.65	0.70	\$7,387.56
							Entity Total	:	\$7,387.56
							Adjustment	:	\$0.00
							Total Amou	nt:	\$7,387.56
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

				••						
8	2017	982	1,812	0	2,794	\$3,492.50	\$69.88	\$3,422.62	0.70	\$2,395.83
								Entity Total:		\$2,395.83
								Adjustment:		\$0.00
								Total Amount:		\$2,395.83

Spink

8/2017

831

2,168

13

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,199	4,446	7	6,652	\$8,315.00	\$169.66	\$8,145.34	0.70	\$5,701.74
							Entity Total	1	\$5,701.74
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,701.74
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

\$3,765.00

\$76.94

\$3,688.06

0.70

\$2,581.64

3,012

Entity Tota	al: \$2,581.64
Adjustme	nt: \$0.00
Total Amo	ount: \$2,581.64

Report	ing Period Teleo	com Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017		872	1,122	1	1,995	\$2,493.75	\$49.95	\$2,443.80	0.70	\$1,710.66
								Entity To	tal:	\$1,710.66
								Adjustme	ent:	\$0.00
								Total Am	ount:	\$1,710.66

Todd

Sully

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	0	3	2	5	\$6.25	\$0.72	\$5.53	0.70	\$3.87
							Entity Tota	l:	\$3.87
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3.87

Tripp

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,804	3,760	5	6,569	\$8,211.25	\$164.99	\$8,046.26	0.70	\$5,632.38
							Entity Tota	ıl:	\$5,632.38
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,632.38
Turner									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,596	5,895	15	8,506	\$10,632.50	\$213.98	\$10,418.52	0.70	\$7,292.96
							Entity Tota	l:	\$7,292.96
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$7,292.96

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	3,722	9,907	305	13,934	\$17,417.50	\$398.33	\$17,019.17	0.70	\$11,913.42
							Entity Tota	l:	\$11,913.42
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$11,913.42
Walworth									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	2,443	3,517	71	6,031	\$7,538.75	\$152.09	\$7,386.66	0.70	\$5,170.66
							Entity Tota	al:	\$5,170.66
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,170.66

Yankton

Totals

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
8/2017	5,975	14,727	181	20,883	\$26,103.75	\$555.40	\$25,548.35	0.70	\$17,883.85
							Entity Tota	:	\$17,883.85
							Adjustmen	::	\$0.00
							Total Amou	int:	\$17,883.85

		250,440	555,274	8,977	814,691	\$ 1,018,363.75	\$ 21,457.89	\$ 996,905.86
--	--	---------	---------	-------	---------	-----------------	--------------	---------------